s
£ ¥ . P : UL AR SR

HBE 2nob 193'PPR; iiufﬁ:w% woonnd wt b

TowlPags—S . © PG/MS/MCA-204/16 -

mmmm-umm ,

J‘D.« ﬂf)!""‘} I3 I T"! ik i’f‘r’mf ff 1? FRIOE

e gjmizim‘; ﬁWM & 'wx‘ﬂ_ SR
T mgm{g ’*ﬂlhe‘ gxﬁm '

‘gﬂ‘\,w T

: f - Answeranymenq-esnm

..“ ,,.{

Candidatesaremquvedtogwethezranxwersmthezr

sk MM afmmpmmabk
4 “Vﬁ‘ EEE 1 906 28 ESAET I sid ;
Illustrate the answers wﬁerever necessaty

(a) What is the functlon of HOLD sngnal in
8085 ? . coHes . |

(b) Write an assembly ;*language program A
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datam
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(e)mwdmﬂtsmmm
separatecmtrolsngmls for memory and
I/Odevnces? | | 2+5+3'

2 (a) What is subroutme ? How does - 8085
' ,;g; mlcroproom nnplemcnt subroutine ? -

(b) Wnte an assembly language program to
convertZdngitBCDtobmarynumberusmg
. subroutinecall. . o 3+7

- 3.. (a) Whatnstheﬁncnmwuumharycauyﬂq‘
- of 8085 ?° ‘

(b) Whatmthelengthud addressmg moda
ofthefollowmginsumnons :
() INOSH o
(ti)-XRA!B_ RRPEE
(i#) CALL2050H

. (@) STA2400H |

(c) mnmﬂleW?Exphhﬂnrole ,
ofm’l'RmleTAsngmlofsosS 2+4+4
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(4)

~ (b) Write an assembly language program for .-
8085 to copy a block of data from one
~ segment of memory to another o 5 +5

7. (@) Explam the task of the following i mslmcuons
and -calculate time “delay of these. (clock
frequency 2 MHz) :

() STAXB
(i)) XRAM : L E
| (iii)) XCH G ' '
(b) Write an assembly language program for

‘8085 microprocessor to sort a set of 8 bit
numbers : | . 6+ 4

8. (a) Whatlsthediﬁh'encebetweenMAXmode
‘ operation andMIN mode operation in 8086

mlcroprocessor ?

(b) How does 8085 mmopmcmsor demultlplex
- AD;—-ADy? :

(c) Explain the dlfferent modes of operatlon o
' of8255 - 3+2+5
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S (n)mmmmmmof
o W“maoprocmor :

(b) Wﬁteanaﬁemblyhnguagepmgramfor :
' - 8085 microprocessor to find the smallest

mmberfmmuetof&bxtnumbers. 5+5_'.1‘.

o "'ll..-(a) Bxplanthedlﬁ'mﬂagrqgtstersmsow o
(b)Calcuhtethe time for executmg the'
followmgcode (clockﬁ'eqwncyZMI-Iz)

MVI A,OSH
'~ MVI-C,02H
ADDC
INR A
o -XRAA
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